Minimum detection limit (MDL) of six hyperspectral features on four modeling ratios on the 24
testing sets.
1. Analysis of the MDLs for different modeling ratios under the original spectral value (R).
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Fig 1-1 The decision tree analysis in modeling 1:1 Fig 1-2 The decision tree analysis in modeling 2:1
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Fig 1-3 The decision tree analysis in modeling 3:1 Fig 1-4 The decision tree analysis in modeling 4:1



2. Analysis of the MDL for different modeling ratios under the R_1st.dv.
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Fig 2-1 The decision tree analysis in modeling 1:1 Fig 2-2 The decision tree analysis in modeling 2:1
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Fig 2-3 The decision tree analysis in modeling 3:1

3. Analysis of the MDL for different modeling ratios under the R_2nd.dv.
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Fig 2-4 The decision tree analysis in modeling 4:1
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Fig 3-1 The decision tree analysis in modeling 1:1 Fig 3-2 The decision tree analysis in modeling 2:1
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Fig 3-3 The decision tree analysis in modeling 3:1
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Fig 3-4 The decision tree analysis in modeling 4:1




4. Analysis of the MDL for different modeling ratios under the 1g(1/R).
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Fig 4-1 The decision tree analysis in modeling 1:1
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Fig 4-2 The decision tree analysis in modeling 2:1
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Fig 4-3 The decision tree analysis in modeling 3:1
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Fig 4-4 The decision tree analysis in modeling 4:1
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5. Analysis of the MDL for different modeling ratios under the 1g(1/R)_1st.dv]:
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Fig 5-1 The decision tree analysis in modeling 1:1 Fig 5-2 The decision tree analysis in modeling 2:1
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6. Analysis of the MDL for different modeling ratios under the 1g(1/R) 2nd.dv:
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Fig 6-1 The decision tree analysis in modeling 1:1
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MDLs of different hyperspectral features on the six complete datasets:
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Fig 7-1 The decision tree analysis of R

Fig 7-2  The decision tree analysis of R-dv1
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Fig 7-3 The decision tree analysis of R-dv2
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